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PEOH: Witk 100mLX1 i, 4CHETE;
R Witk 35mLX1 M, 4CHETE;
WA= Wik 12mLX 1 i, 4CIRAES

EEHFMA:
e P RIE R 2 R e i, WORIER, ATLL 70°C-90°Cln#d, Ik LA HEH i -

LPO #HL:

1. 4HpH . A0HEEZH SR S 1 2%

NP I RN SR B B AN B LA Y, B0 R T LI IR Ekdn i gE (104 N 1REUGK
A (mL) 2y 500~1000: 1 FEEH] CRil 500 JJ4HBEERAEMIANA ImL $2IGHD, 4 P B AA 4 ) s 4
(UKIR, Th&E 20% 5L 200W, #B 3s, (ARG 10s, EEHE 30 ¥X)D; 8000g 4°C &> 10min, HU L, Bk L
R

M HBALRE (g): FEURAB(mLN 1: 5710 M CERUGRENZ 0.1g HEY, A 1mL $2E
W, FATUKIBSISE . 8000g 4°CES.Ly 10min, B Ly, BIK LA,

2. i GO FEdh: EHEARN.
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e B R:

1. BEFRACTREY 30min BA L, A5 KF] 535 nm.
2. 1F EP BRI U0 T

e TAE
R — (ul) 300 300
FEA (pLd 30
ZEMEK (Ul 30
W= uld 100 100

SERIYRAT, 95°C/K M 40min JG, /KA #1.3000g 5.0 10min, TREL 200uL EiEMIAN 96 FLAR, l5E 535nm
TEEWREE, IE A WEM A FH. AA=A TE-A TH.

PO ERIIH:
96 FLARME Ry A KW
y=0.5723x-0.0076, R2=0.9997, x AFREMKE wmol/mL, vy NWILEE.

1. Mg G o PO F A
LPO % (nmol/ mL)= ( A A+0.0076) <0.5723XV #x-+V F£X1000=1747.3X ( A A+0.0076)

2. HE. HREIESMARD o SEIE

(1 EREAREHHE

LPO & & (nmol/ mg prot)= ( A A+0.0076) =-0.5723 XV Fr=(CprXV ££)X1000=1747.3X ( AA+0.0076) +
Cpr TWEFAMNE, BHALNT BCA &AM & =M E .

(2) ERERRETHE

LPO & i (nmol/g #EE )= ( A A+0.0076) +0.5723 XV #r+(W XV FE+V F£L)X 1000 =1747.3X (A
A+0.0076) +W

(3) IR B4 M BT

LPO & (nmol/104)= ( A A+0.0076) +0.5723 XV 5+ (500X V ¥E+V FEiE)X 1000
=3.495X ( A A+0.0076)
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V Ar: ARdEZE IR SRR, 0.03mL; VOFE: IIAFEARMAEER, 0.03 mL; VO FEE: MIASREGRAAEIR, 1 mL;
Cpr: FEAEEFUKE, mg/mL; W: FEARFIE, g; 500: 40BN %k, 500 J3; 1000, umol F| nmol
P R HL




